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[image: image1.png]PART A: VOCABULARY

I. Directions: Add the affix to each word according to the
given Chinese, making changes when necessary. (10%)

1. compressed HEEEL4EH] .
2. variant A& 2.
3. reversibility ANA] G 3.
4. division iy 4,
5. mental NG = | 5.
6. runner it 6.
7. lie (i ZF 7.

8. different X5 K4y 8.





[image: image2.png]9. connect 37+ 9.

10. active HAAYEA R 10.

II. Directions: Fill in the blanks, each using one of the given words or phrases below in its
proper form.(10%)

reminiscent of press on focus on for the sake of in contrast
in relation to lose sight of come to light in memory of line with
11. must not the possibilities of using waste products.
12. That song 1s so , my adolescence.
13. By . the furnace _firebricks, heat losses can be reduced.
14. The image to be photographed the film by the lens.
15. The evaporative capacity is large the size of the boﬂer.
16. The first evidence for the existence of new particles in the 1950s.
17. clarity, the illustration shows only a few turns ot wire.
18. Mankind ever harder the limited fresh-water supplies of the planet.
19. conductors, there are very few free electrons in an insulatdr.
20. A service was held those who had died from AIDS.

III. Directions: Fill in each blank with a suitable word given below. (10%)

most always often little as almost that especially still routine

The need for a surgical operation, __ 21 an emergency operation, almost __ 22 comes

as a severe shock to the patient and his family. Despite modem advances, __ 23 people still

have an irrational fear of hospitals and anaesthetics. Patients do not 24 believe they

really need surgery — cutting into a part of the body 25 opposed to treatment with

drugs. In the early years of this century there was 26 specialization in surgery. The

scope of surgery has increased remarkably in this century. Many developments in modern surgery

are _ 27 incredible. One of the most revolutionary areas of modern surgery is _ 28 of





[image: image3.png]organ transplants. “Spare parts” surgery, the simple 29 replacement of all worn-out

organs by new ones, 1S 30 a dream of the distant future.
21. 22. 23. 24. 25.
26. 27. 28. 29. 30.

PART B: TRANSLATION

IV. Directions: Translate the following sentences into English, each using one of the given
words or phrases below. (10%)

untangle on the edge of given argue over access to

3

Uy

B LRI A LS T MBSO
32. ZTTRESA BT B SRk,
33. MRJTHEZERIEREIE | AR YR TE],
34. BRANEFEEMH iR, LBHEERK,
35. PROLEEN T, 351k EIRE) BARIE,

V. Directions: Translate the following paragraphs into Chinese. (15%)

36. ... The final task tested understanding: the subjects had to decide, for example, whether the
words senator and congressman belong in the same category.

Men and woman showed a difference in brain use only on the rhyming task. In both sexes,
trying to recognize rhymes led to increased blood flow in the inferior frontal gyrus of the left
hemisphere—Broca’s area, as it’s commonly called—which has long been linked to language
ability. In men that was the only active region, whereas 11 of the 19 women also showed activation
In the corresponding region in the right hemisphere. The women’s brains weren’t working any
harder overall; the work was just spread out more. “ The accuracy was very comparable,” Sally

Shaywitz says. “It may be that there are just different routes in the brain to get to the same results.”




[image: image4.png]38. The use of fertilizers and pesticides was once very profitable due to the fact that L]
A. there was an increasing demand for agricultural products in the U.S.
B. fossil energy was not costly
C. farmers could use inexpensive energy

D. mainstream American agriculture paid no attention to saving energy

39. It can be concluded from the passage that . [ ]
A. more energy and fertilizer will be wasted on large farms
B. diversified tarmers will disappear from the world
C. capital and land will be put into greater use
D. more advanced machinery will be applied 1n agricultural production
40. Which of the following statements 1s TRUE accordirig to the passage? [ ]
A. The development of large farms was helped by management skills.
B. It 1s possible for adaptive farms to employ resource-conserving practices.
C. The federal programs have solved the problem of soil erosion.
D. The problem of energy-conservation has never been paid attention to.
41. The best title of the passage might be . [ ]

A. Synthetic Fertilizers and Pesticides

B. The Future of Diversified Farms

C. Agricultural Production in the U.S.

D. Energy-conservation and Modern Superfarms

(B)

Scandinavian countries, particularly Sweden, experience drastically differing light conditions
during certain times of the year. During early summer, in June and July, there are only four hours of
night. Even during those hours, the sky remains blue and resembles what we call dusk.

During the summer months, Swedes are active well into the night, and city streets are crowded
with people. The mood is positive, energetic, and friendly. In fact, human behavior seems to be
significantly affected by the daily period of extensive sunlight.

Dr. Lennart Wetterberg has begun a project called “Seasons around the World” at the
Karolinska Institute in Stockholm to study the physiological and psychological effects of sunlight
on humans. Although the study has yielded no conclusions as yet, certain interesting data have been
collected.

In Sweden, people with a history of depression appear to suffer more during the sharp swings
in light and dark cycles of spring and fall. Suicide attempts and electroshock treatments for severe
depression are most numerous then. |

Scandinavians report that they sleep several hours less each day during the summer than they
do in the winter. Researchers say that when the human eye detects bright light, the result is a
decrease in the hormone melatonin, produced by the pineal gland. This hormone regulates sleep and
its reduction can keep you awake. |

Psychiatrists are hoping that exposure to bright light may help patients who are experiencing
depression. Sweden is an ideal place to study the effects of light and darkness on people. In the

winter, there are as few hours of light as there are dark hours in the summer. The country’s far-north




[image: image5.png]location is the reason for this phenomenon. Many Swedes report that they enjoy the drastic change
1in daylight from one season to another.

Applications of findings from such research are not limited to the Scandinavians. Doctors who
treat or seek to prevent depression in other countries are interested in the results. Employers who
depend on workers assigned to the night shift would like to know how to increase their efficiency.
Individuals who continuously work in the dark (miners, certain research scientists, etc.) may also
wonder about the short- and long-term effects of their working conditions. People who are planning
to move from one climate to another may wish to consider the influence of sunshine or the lack of it
on their moods and behavior.

42. The major purpose of this passage is to discuss . [ ]
A. the climate of Sweden B. the effects of light on humans
C. depression D. mental illness

43. During early summer, Swedes : ( ]
A. travel abroad B. attempt suicide more often
C. work longer hours D. socialize at night

44. During the long dark winter months, Swedes experience : [ ]
A. a slight shift toward the north B. suppression of the hormone melatonin
C. higher rates of treatment for depression  D. bad weather

45. The effect of daylight on an individual’s ability to sleep is : [ ]
A. purely psychological B. purely physiologically
C. regulated by the pineal gland D. related to childhood sleep experiences

46. The author’s attitude toward treating depressed patients with light therapy is probably

A. skeptical B. optimistic

C. negative D. critical

VII. Directions: Read the following passage, and then fill in the table with the information

~ based on the passage. (10%)

Like the sun, most stars support their huge weights by generating energy. This energy keeps
the stars warm, and the pressure of the warm gas holds the stars up against their own gravity.
Someday, though, a star exhausts its fuel. Without its energy source, the star can no longer hold
itself up against the pull of its own gravity and so the star collapses. A star with an initial mass
below eight solar masses collapses into a white dwarf star. White dwarfs hold themselves up not
through warmth but through the pressure exerted by the stars’ electrons on each other.

There is a limit to how much pressure electrons can exert, however, and that limit is exceeded
if the white dwarfs’ mass 1s above 1.4 solar masses.

What happens if a star 1s born with more than eight solar masses? After the star runs out of
fuel, the outer portion explodes, forcing the core of the star to collapse. The remaining star exceeds




[image: image6.png]1.4 solar masses and so cannot form a white dwarf. Instead, as the star collapses, its electrons and

protons smash together to form neutrons, and a neutron star is born.

As with white dwarfs, there 1s a limit to how much mass a neutron star can have. If the

collapsing star exceeds two or three solar masses, the star’s gravity overwhelms the support the

neutrons provide. In a fraction of a second, the star shrinks. As the star gets smaller, its surface

gravity gets stronger and the escape velocity climbs higher until it exceeds the speed of light. The

star has now become a black hole.
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VIII. Passage-writing(15%)

52. Directions: Write a passage (150-200 words) in English on the title “Should the Use of New

Construction Materials Be Restricted?”’. Develop the ideas according to the Chinese
outline given below.

(1) BB BRI E R R, B F U,
(2) FFBBEFAB R E AR — LRI 585, JEisd . AFITHEB%.
3) FEIEFM B R G RZZ BRG] 7 (HUA S )
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VI. Directions: Read through the following passages. Choose the best answer and put the
letter in the bracket. (20%)

(A)

The farm is a major marketplace for millions of tons of synthetic fertilizers and pesticides, and
for advanced machinery and the fuel required to run it. The modern superfarm, large and highly
capitalized, is resource dependent compared with the diversified small farms that were once
dominant. On diversified farms, major energy needs may be supplied by resident humans and
animals. Soil fertility may be maintained by alternating cash crops and restorative crops, and also
by returning animal manure(AE#}) to the soil. This farming model of relatively self-sufficient
agriculture, and the way of life associated with it, are still economically viable, as demonstrated by
prosperous Amish farmers and other practitioners of “alternative” agriculture. Particularly relevant
to today’s mainstream agriculture are the energy-saving practices on large “organic” farms, which
are thoroughly mechanized but which minimize the use of pesticides and synthetic fertilizers.

By comparison, mainstream American agriculture has until lately been careless in its use of
energy, water, and land. When fossil energy was cheap, applications of fertilizers and pesticides
paid large dividends, so farmers were encouraged to use these products. Some farmers used too
much fertilizer and pesticide. Farmers in dry regions enjoyed an era of cheap water, obtained from
publicly subsidized irrigation systems or from pumping groundwater using inexpensive energy.
The soil too was expendable as demand grew for U.S. agricultural products.

The period of extraordinary profligacy (%) in the use of soil, water, and fossil fuels may
well be at an end. The new structure of large farms is quite sensitive to cost factors. These
adaptive farms, whose development was assisted by public tax, subsidy and research policies,
have access to capital, technologies, and management skills, enabling them to switch relatively
quickly to resource-conserving practices—for example, to the low-tillage system that requires less
fuel, that shepherds soil moisture, and that may reduce soil erosion. It seems likely that federal
programs that have enlarged our farms, therefore, have had a further result of creating the potential
for a more conserving agriculture. With respect to energy use, for example, energy costs per unit
of output are lower for large farms, mainly because these farms quickly economized on energy as
costs rose. In the future, according to one authoritative assessment, “agricultural production 1is
likely to use capital and land more intensively but energy, fertilizer and labor less intensively”. |

37. The modern superfarm is different from the diversified farms mainly because . [ ]
A. 1t 1s more dependent on resources
B. it 1s relatively self-sufficient
C. it needs more pesticides and synthetic fertilizers
D. 1t 1s much larger than the latter
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